DG Flugzeugbau GmbH
76646 Bruchsal

Subject

Effectivity

Accomplishment

Instructions

Materid

Remarks
Bruchsal, date: 06.04.1992
Amended: 7.05.2004

Author:
Dipl. Ing. Wilhelm Dirks

Servicelnfo page 1 from 1
No. 0-1/92

Exchange of the spherical bearings SSC 6 in the bell cranks of the parallelogram
control column

All DG - single seaters
In case of excessive free play in the parallelogram control column

1. Disassemble the control stick.

2. Topull out the bearing SSC 6 the securing ring St 5a/6 must be removed.
Therefore weaken the ring by grinding or filing so that it can be removed.

Be careful not to damage the bell crank St 4.

3. Toremove the bearing SSC 6 install the puller assembly as shown in drawing
W 45. Pull out the bearing by tightening the nut W 45/3.

4. To pressinthe new bearing use the puller assembly in the oposite direction.
Check the bearing for easy movement. Stiff movement can be eliminated by
introducing a6 mm bolt into the bearing and moving the ball of the bearing in
all directions.

5. Install the new securing ring St 5a/6 with the tool W 46 as shown on drawing
W 46 on the upper left hand side. There should be no free play between bush
and bearing.

6. Securethering St 5a/6 with the tool W 46 as shown on drawing W 46 on the
upper right hand side.

7. Reinstal the control stick. Use new self-locking nuts M6 DIN 985-8.8zn.
War ning: Assemble the bolt for the aileron control pushrod from the lower
side (nut on top), otherwise there is the risk that the control column may be
blocked.

. 2 spherical bearings SSC 6

2 securing rings St 5a/6
3 self-locking nuts M6 DIN 985-8.8zn
drawings W 45 and W 46
Tools: 1 puller assembly W 45/1, 2, 3
1 presstool W 46
2 washers 6.4 DIN 125 St zn
1 bolt M6 x 90 DIN 933-12.9

All instructions are to be executed by the manufacturer or by alicensed workshop
and to be inspected and entered in the aircraft logs by a licensed inspector.



M6x30 DIN 933 12.1/.“% -
Scheibe 6,5 DiN 125 -5t

NI

.f///,,,thIIIl

Scheibe 6,4 DIV 125 $4

Abzichen oley Lagers Schwinge St4 E
R ) .10
1
A_la:dm- —~ V/f///?
aus Ck4g /| 45 xks® L asxus’,
@ - - - o 0o
= [
J57 h: 8 A% 1
// \ E
15x45° || 3x45°
| 3
25 E‘
2 06 ‘
Buchse avs Ckes /
= ,,//_/’ ﬁ
—— Ny
</
A5 . 15 *45°
20 -
3 .- M6
Mutter aus Ck¥s /
97, )
—10_| 15
¥ Goz.
}o.,‘ 6.5 ﬂ.{]ﬁ'ﬂ.r%_ ;’:gzm GMbH
Norm. Im Scholtengorten 19-20
_§ Petetes
41 AbZiChE"’ f&r lc,cr $SCé w
'j.m acl Haadstewersdwingen Sté
‘,{,‘,"’;‘; Tei(1 Alzicher was - :
‘ TeiC2 Budhsc i
N8| Tog | Name Tet¢ 3 AMuler 1




. wies /3
/] W4é
Einpressen Verstemmen oecs
des Riages ﬂin,cs
3¢ Sa /¢ _Sfla
1 ..SSC 6 y f"
£ / ;
w45 /1 .
‘U: 6,4 DI¥/128 St E’
L Y
?
X f
F NN
" ! Nyl
-~ N \/
U
P N
N | ~
‘ |
A 12 1) —
o Schnift. A 2:1
/ Hr\\ N,L Matecial (7734 o
1 l &
175
— Jop | Meme Glaser-Dirks
- {834 . Divley Flugzeugbau GmbH
il 7520 Bruchsal 4
Norm. Im Schollengarten 19-20
Meoboteb
A Bér delwerk zeuq
(2:1) Zubehsr zu Abzicher WH4S
fy&oﬁ.’
4,,,"",.,,"'“.. W4¢
el oy W) Tw [lew




